3CA: Control Change Cause Analysis 
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a) Complete column (1) after careful review of the facts (e.g. by reviewing ECFA+ or STEP analysis). A significant event is one that significantly increases risks or decreases control
b) Each safety barrier and work control should be identified by a letter (a, b, c, etc)
c) Complete columns (1) to (2) before moving to the remaining columns
d) Columns (2) to (5) can be stated as precise assertions or as questions. If questions, collate these on a ‘list of further enquiries’.
e) Entries in column (4) should be stated as two sentences, starting “Actual:” and “Expected:”. State the standard on which expectation is based.
f) Columns 5(a)-(c) must use complete sentences (this preserves the logic of the analysis and helps review).

